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1. Suppose solid B has 100 units of energy and is brought into contact with solid
A, which has 0 units of energy. A little while later, how likely are you to find
the system in the ¢4 = 60, gg = 40 macrostate?

2. Suppose solid B has 40 units of energy and is brought into contact with solid
A, which has 60 units of energy. A little while later, how likely are you to
find the system in the g4 = 0, ¢ = 100 macrostate?
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3. Try using the multiplicity formula to verify the value of (2, = 9.3 x 1

Figure 1: Figure from Daniel V. Schroeder, Thermal Physics, Addison Wesley,
2000.



